Tepelna bilance objektu: Radog’ RD 105R

Ro¢ni spotieba tepla:

1. pro vytapéni
T =T. 17,5-3.9
=24 x X—=———xd=24%x343x—"——"-x205=7.780,0 kWh/ rok
vat,r vat,h T;' _ E 17’5 +12
1 kWh=3,6 MJ

=7.780,0%3,6 X107 =28.0 GJ / rok

2. pro piipravu TUV

45%X5+60%x2
Orppa =W*xq, Xi =1,0% : 7 - x3=14,79 kWh
— 55-1, _
QTUV,r _QTUV,d xd+0;80xQTUV,d x55_ x(350—d)—
55—-15

=14,79 x 205 + 0,80 X x (350 —205) =3.123,87 kWh/rok

1 kWh=3,6 MJ
=312387%3,6%x107° =11,25 GJ / rok

3. Celkem
0=0,,, +Opy, =7.780,0+3123,87 =1090387 kWh/rok

1 kWh=3,6 MJ
=10903,87 x3,6 X107 =39.25 GJ / rok

Meérna spotieba tepla:

1. pro vytapéni
wir _ 1.780,0
Oy = o = — = 64,82 kWh/m’rok
’ PUO 120,02

2. pro piipravu TUV
0 _ Oy, 312387
s PUO 120,02

=26,03 kWh/m’rok

3. Celkem
Qsp = vat,sp + QTUV}SP =64,82+26,03=9085 kWh / m*rok



